

Sčítání a odčítání

Výsledek (když to půjde) převed' na smíšené číslo

Vzorový příklad výpočtu:

$$\frac{4}{5} + \frac{2}{3} = \frac{12}{15} + \frac{10}{15} = \frac{22}{15} = 1\frac{7}{15}$$

$$\frac{5}{6} - \frac{1}{4} = \text{---} - \text{---} = \text{---}$$

$$\frac{2}{3} + \frac{3}{7} = \text{---} + \text{---} = \text{---} = \text{---}$$

$$\frac{3}{4} + \frac{2}{5} = \text{---} + \text{---} = \text{---} = \text{---}$$

$$\frac{5}{6} - \frac{5}{9} = \text{---} - \text{---} = \text{---}$$

$$\frac{3}{10} + \frac{2}{5} = \text{---} + \text{---} = \text{---}$$

$$\frac{1}{5} + \frac{4}{3} = \text{---} + \text{---} = \text{---} = \text{---}$$

$$\frac{2}{3} - \frac{2}{9} = \text{---} - \text{---} = \text{---}$$

$$\frac{1}{8} + \frac{3}{4} = \text{---} + \text{---} = \text{---}$$

$$\frac{1}{3} + \frac{3}{4} = \text{---} + \text{---} = \text{---} = \text{---}$$



$$\frac{7}{9} + \frac{1}{6} = - + - = -$$

$$\frac{4}{5} - \frac{3}{4} = - - - = -$$

$$\frac{1}{6} + \frac{2}{3} = - + - = -$$

$$\frac{15}{16} - \frac{3}{4} = - - - = -$$

$$\frac{1}{6} + \frac{2}{3} = - + - = -$$



Vzorový příklad výpočtu:

$$\frac{1}{2} + \frac{3}{8} + \frac{3}{4} = \frac{4}{8} + \frac{3}{8} + \frac{6}{8} = \frac{13}{8} = 1 \frac{5}{8}$$

$$\frac{1}{3} + \frac{1}{9} + \frac{3}{6} = \frac{1}{18} + \frac{2}{18} + \frac{6}{18} = \frac{9}{18}$$

$$\frac{1}{2} - \frac{1}{4} + \frac{3}{8} = - - - + - = -$$

$$\frac{11}{15} - \frac{1}{3} + \frac{2}{5} = - - - + - = -$$

$$\frac{3}{6} + \frac{2}{3} + \frac{1}{4} = - + - + - = - = -$$

$$\frac{1}{4} + \frac{2}{5} - \frac{1}{2} = - + - - - = -$$

$$\frac{1}{2} + \frac{3}{4} - \frac{5}{6} = - + - - - = -$$